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mole of ozone (O3) gas 1s
iy
&

4 (b) 1.80 x 10*

2. Number of atoms in 0.1

| (d) 1.80 x 1022

(b) 2 moles of HCI (g)

(d) 1.5 moles of HCI (g)
fy the 'iubﬁlrrect statement from the following

five 5d orbitals are different in size as compared to respective 4d orbitals.
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(a) Fifth group, fouf ;
(c) Second pcriud. fourth group "
umber of electrons &F ¢ central atom, respectively are

9. In BF:. h}'l:sridizulion and n

(c)sp* and © (d) sp* and 8

(a) sp’ and 4 (b) sp’ and 6
10. Which of the following diatomic molecular species has only 7-bonds according to

molecular orbital theory”
(c) Be2 (d) 02

(a) Nz (b) C2
11. In the reaction:

2Ag + 2H2804 — AgSOs+ 2H,0 + SO2

Sulphuric acid acts as:
(a) Oxidising agent (b) Reducing agent
(c) Catalyst (d) Acid as well as oxidant

12. Which of the following can not disproportionate?

(a) HCIO4 (b) HCIO2 - (c) HC1O (d) K
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This section contains 5 qunlinmtnlth internal cholce in one question. The following
questions are very short ansWeT VP ang o0 ry 3 marks each.

&
17. Balance the given eguation in & Mepwise manner (any method)

Crz0+ + 8§0)2 . O 4 SOn" [.'midw medium)

I8 Give reason fior the following ! (Ix2
xd)

{a) Ethanol is m[ubl&,m water.

b) Benzene i , .
i ene is Jess reactive lns_ngfDTl“u‘nL'v of three double bonds
9.

T
jo u 12

i1 1
s ey 5 0

Asomic No —F
(1x2)

Observe the graph and explain the following:

(a) A:H of Be is more than that of B.
- . their respectiv jod.
(b) Noble gases have very high value of A:H in thet pective period
719 % 10° ms™', calculate the

r’s first orbit 18 &

20. If velocity of the electron in Boh 6 103 Js , Mass of clectron = 9.1 ® TR

wavelength associated with it. (h = 6
: . ueous solution.
21. Calculate mole fraction of the soluteina 1.0 molal aq f1

OR

required to make 500mL. of

Calculate the mass of sodium acetate (CH3COONa) : i
etate is 82.0 g mol™).

0.375M aqueous solution. (Molar mass of sodium ac

SECTION C

This section contains 7 questions with internal choice in one question. The follm
questions are short answer type and carry 3 marks each. :

22. (a) Identify oxidizing and reducing agent in the following redox reaction.
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23. (a) Calculate the £y hite |
; Mmal Charge oy « N (1x3)
(b) Axial bonds in e i Ny,
e lo n
) Which of the nger than equ orial by
=4 t
( WO Is stronger and why? s s, Wiy
4 < § SIgmag |
2 z Ise silar ardss 3
24. (a) Use molecular orbita] tieos ond o Bi bond
OIY 10 explain w} '
Y " a1 w 1 = ot " i
(b) Draw the shape of ols. Y Be,y Molecule 4¢° s
25, (a) Write elect Ic C : .
23 1(‘ ) electronic configuration, predict iod of the element with
=29 t and peroc Q
z he b](‘ll_‘k‘ w._nl'l" and (2)
(b) Write genetal eleGtronic confpe F ()
no p-bl LS.
~block glemeM™
magnesium

26. (a) Chlorophyll contains 2.68% p,

: 1l . number of
atoms in 2.0 8 chlorophyll. (atomic o= e alculate the nu

agnesium
: mas ¢z
ass of Mg =y24g-"l1"")
4 bi solution, mol . : 2 : - e
(b) In a binary s© . e fraction ts is ‘x’. What is the mo
of one of the comPOnE! ()

fraction of other component?

gen. 1ts molar mass 18

(3)

‘ - R
An organic comp_m{nd contains 57.89; ¢ 3 65; H and rest is OXY
166g/mol. What is its molecular fOrlela*’? B

culate the uncertainty in position of a dust

27 State Heisenberg’s uncertainty principle. Cal
e ocity is 5.5 x 107°ms " (h=6.626x10"* Js)

particle with mass of Img if uncertainty in its vel

28. (a) How many orbitals are associated with /=37 (1x3)

(b) How many electrons will be present in n = 4 with m;s value of —1/2?
(c) How many unpaired electrons are there in Mn?" (Z = 25)?

SECTION D

The following questions are case based questions. Each question has an internal choice

and carries 4 (1+1+2) marks each. :
29. Read the passage given below and answer the following questions:

There are many types of electroma gnetic radiations, which differ from one anoth?r n
wavelength (or frequency). These constitute what is called electromagnetic spectrum.
d by different names. Some examples are: radi

Different regions of the spectrum are identifie _ dg
frequency region around 10° Hz, used for broadcasting; microwave region around10™" HZ
used for radar. Planck assumed that radiation could be sub-divided into discrete chunks 01
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(1)

ationshiP between energy and wavelength: :
(1

(a) Give mathematical rel {

(b) What are electromagnetic radiations? Mention a property of o
at provide 1J of

(2)

(¢c) What is the number ofr"“’“’“s of light with a wavelength of 4000 pm =

energy? (c = 3x10% m/s)
OR

T AT . - 10" (2)
(c) Calculate th;e:%elcngth a“d_ ﬁ',‘?quency of a light wave whose period is 2.0x101%s. (
e (R

W = 310]1’1
1 cou%

ea
r the amount of energy rel Sk

Electron gain enthalpy of an element is the energy change
in elet
ent. It is measurcd in

accepts an extra electron. We can denote it by A.gH. Greate
the above process, higher is the electron gain enthalpy of the elem
volts per atom or kJ per mole. g
. f electrons towards 1tselt
i tendency-

The tendency of an atom in a molecule to attract the shared pa‘i itisonly @
known as electronegativity. It is a dimcnsiqn]ess propslty; E?Ffdusetlclements to attract the S
basically indicates the net result of tehdencies Of atomSEILCLISEER
1 bond forming electron pairs.
| y (@9
(a) Which of the two has higher AegH and why? F Of Cl : g
g o AR : 1odic
(b) Identify the most and the least electronegatlve element in third period of modern p(ﬁ‘if;o
table.
(c) Predict the sign of AegH of noble gases. Give reason for your answer. )
OR
(c) How does AcgH generally vary on moving across a period? Give reason for your answer.
SECTION E

The following questions are long answer type and carry 5 marks each. All questions

have an internal choice.

31. Attempt any five of the following:
(a) How many electrons in Zn (Z=30) have (sum of principal and angular quantum

i.e (ntl) =4?
(b) State Pauli’s exclusion principle.
(¢c) How many electrons in an atom ma '
y have the following quantum numbers? n
'(jﬁ Ho_w many angular nodes are there in 3s? = ? '
(¢) Which of the two has higher energy 5s or 4p?

#) Name the series in hydrogen Spectrum which falls in UV region.

) Give one point of diff ¢
erence between emission and - |
absorption spectrum.
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